
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Top View 

Homemade Cheese Press 

Polyethylene Base 
8" X 8" X 1/2" 

Threaded Bushing 
or Embedded Nut 

4" 
ID 
x 8"

Side View 

1/4-20 Wing Nut 

1/4 - 20 threaded rod 10" 

Double 1/4 - 20 Nut 

Rubber Feet 

Polyethylene 
Pressure  Plate 
3.93" X 1/2" 

50lbs Spring 

Stainless Support Arm 
1" x 8" x 3/8" Nut-Washer-Nut 

1/4 - 20 threaded rod 10" 

Most parts can be found at good hardware store.  If you have a hard time finding small pieces of 
polyethylene look for a small inexpensive cutting board at a department store and cut it to size.  

1/4 - 20 threaded rod  6" 

Threaded Knob with setscrew 

If you decide not to build your own you can find one at http://www.thecheesemaker.com/cheese-presses.htm
 

 © DJ 2006 

http://www.thecheesemaker.com/cheese-presses.htm

